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Which lines are y=r1X-6

parallel* 4
perpendicular?

S:—[Q%‘\\) y=@<—6 y= -6
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The equation 1s said to be 1n

Slope-Intercept Form

* m = Slope
* b = y-intercept



http://www.purplemath.com/modules/slopgrph.htm
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ind the Slope and ntercen
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Find the slope and
y-intercept, then graph = , '

5785 x
4= 2K+Y /
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::—)’ Slope(m): / \

\_ly-intercept(b): l—-!-'
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Find the slope and
y-intercept, then 0 ;
graph.

3y/-2)=3x+2+2 Ba
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E
‘aL: IX+E:
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Slope(m): \ / \‘

y-intercept(b): qJ/ 3
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Graph the following equation. %?
)
y(+3)=1/2x +7-3 Y |

3=—8L'X"‘7' ' ,

~\

b) State the parallel =5 Slope(m) Va
slope of the equation. ;
~ \/a y-intercept(b): L/—
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State the perpendicular
slope of the equation

(y-4)=4x-8
924- ¥ -8 +¥

ERTR
Y= +Q
M=a
)

December 09, 2015
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State the perpendicular
slg f the equation

(V-2)=5x-8

10
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State the slope and y-int, then graph.

3-5x=§y-6 : : '
Vet R

éj::@( +9 X

3 .

53

b) State the perpendicular Slope(m): __ 4—% oL 3

slope of the equation.
P 43 d y-intercept(b): q)
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State the slope and y-int

LY PT=3K+ 50
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Slope : 5—/ 9
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y-int : S

Equation:
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Slope : - %

y-int : — ’

Equation: = — — j
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3

thegmaghigb. qgor / 1

Slope : 3/ [
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=3

y-int: — 6

Equation:
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